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1. All the questions are multiple-choice type and answer all
the questions.
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4. Each question has four alternative answers. The candidate
has to darken only one circle/bubble on the Answer-Sheet
using blackball-point pen indicating the correct answer as
shown. If more than one answer' option is found darkened,
then the question will be treated wrong and will not be
evaluated.
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question Booklet only.

6. Use of white fluid or blade for correction on the Answer-
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8. After completion of examination, you are allowed to take
away your Question Booklet.

9. There is no negative marking.
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ENGLISH

Read the following passage and answer by
selecting correct option. (Q.1to 5)

For the mobility impaired, highly trained
canines called “Service dogs” can pick up
dropped keys, open and close drawers, retrieve
prepared meals, help a person in and out of
bathtubs, dial 911, push and pull wheel chairs,
help operate a car or van and pull off gloves,
shoes, socks and jackets. Other dogs provide
specific assistance to those who suffer seizures
(Sudden attack of illness) and require special
medication. And, of course, the helping dog
provide companionship, play and give
unconditional love to the people they assist.

It is thirty odd years since the placement of the
first assistance dog. But only in recent years,
with the rising independent movement among
disabled people has the idea begun to spread
widely.

While most service dogs are trained to work
with people who rely on wheelchairs, other
categories of helping dogs include hearing dogs
which alert their owners to sound, such as
doorbells, phones, cooking timers, alarm clocks,
smoke alarms and seizure dogs which carry
medication in their packs and are trained to dial
911 on large keypad phones.

1. The service-dogs were:
(a) paid highly
(b) less in number
(c) multiple taskers
(d) employees

2. The idea of assistance dogs became popular
due to the:
(a) awareness by the hospitals
(b) independent movement among the
disabled
(c) independence of the country
(d) both (b) & (c)

3. The categories of helping dogs are :
(a) domestic dogs, service dogs and seizure
dogs
(b) hearing and domestic dogs
(c) service, hearing and seizure dogs
(d) none of above

(3)

4. There is difference between:
(a) The service dogs and the helping dogs
(b) The service dogs and the canines
(c) The canines and the ordinary dogs
(d) both (b) and (c)

5. Give the noun form of “trained”:
(a) train
(b) trains
(c) training
(d) trainee

Read the passage and answer by selecting the
correct option: (Q.6 to10)

This is a great lesson for all of us to learn, that in
all matters the two extremes are alike. The
extreme positive and extreme negative are
always similar. When the vibrations of light are
too slow we do not see them, nor do we see
them when they are too rapid. So is with sound;
when very low in pitch we do not hear it, when
very high we do not hear it either. Of like nature
is the difference between resistance and non
resistance. One man does not resist because he is
weak, lazy and can not; because he will not; the
other man knows that he can strike an irresistible
blow if he likes; yet he not only does not strike,
but blesses his enemies. The one who from
weakness resists not commits a sin, and as such
can not receive any benefit from the non-
resistance, while the other would commit a sin by
offering resistance.

6 Ceerenmesonsisvin in all matters the two extremes
are alike”, means :
(a) Powerful men always gain success
(b) All human beings are of same characters
(c) Boys and girls are equally talented
(d) The extreme positive and extreme
negatives are alike

7. When the sound is in low pitch :
(a) we fail to hear it
(b) we can hear it easily
(c) it pleases us
(d) we feel dizzy
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8. Too rapid vibrations of light:

9.

10.

() can be easily seen

(b) can not be seen

(c) should be enjoyed

(d) both (a) & (c) are correct

The one who resists is different from a man
who does not resist, because of his:

(a) nature

(b) weakness

(c) strength

(d) laziness

The word ‘irresistible’ means :

(a) tied so closely that it cannot be
separated

(b) that can not be changed back

(c) so strong that it can not be stopped
(d) so valuable that it can not be replaced

Choose the correct synonyms (Q.11 to 15)

11

12,

13.

14,

15.

Servitude

(a) bondage
(b) charitable
(c) gratitude
(d) status

Reverence
(a) reference
(b) respect
(c) disrespect
(d) foster

Perilous

(a) planned
(b) unnamed
(c) pathetic
(d) unsafe

Sanctity

(a) sanction
(b) temple
(c) holiness
(d) violated

Grimace
(a) sneer
(b) glimpse
(c) laughter
(d) unreal

(4)

Choose the correct antonyms (Q.16 to 20)

16. Insipid
(a) witty
(b) meagre
(c) wily
(d) malaise

17. Innocuous
(a) offensive
(b) harmless
(c) organic
(d) anger

18. Veneer
(a) exterior
(b) interior
(c) impression
(d) armour

19. Audacity
(a) quivering
(b) patricide
(c) bravado
(d) cowardice

20. Sacrosanct
(a) irreligious
(b) unethical
(c) irreverent
(d) open

Choose the correct one word substitution for
the given sentence (Q.21 to 25)

21. The study of ancient societies:
(a) Anthropology
(b) Archaeology
(c) History
(d) Ethnology

22. State in which the few govern the many:
(a) Monarchy
(b) Autocracy
(c) Plutocracy
(d) Oligarchy

23. A place where bees are kept is called:
(a) An apiary
(b) Amole
(c) A hive
(d) A sanctuary
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24, A pe.rson who speaks many languages:
(a) Linguist
(b) Monolingual
(c) Polyglot
(d) Bilingual

Zs.gnz who does not believe in existence of
od;

(a) Egoist
(b) Naive
(c) Stoic
(d) Atheist

Arrange the jumbled words appropriately to
form a meaningful sentence (Q.26 to 30)

26. forget/to/off/the/leave/lights/don’t/turn/
before/you

(a) Forget to lights off the turn don’t leave
you before

(b) Don’t forget to turn off the lights before
you leave

(c) Turn don’t off the lights you leave before
forget to

(d) To forget don’t leave before you lights
turn off the

27. you/message/a/will/to/give/mother/your/
please
(a) Will you mother message your a give to
please?
(b) Please your mother message will give
you to a
(c) Will you please give a message to your
mother?
(d) Give you a will message your mother to
please

28. weekly/is/journal/a/this
(a) This is a weekly journal
(b) This journal is a weekly
(c) A journal is this weekly
(d) Is a weekly journal this?

29. trade/the/the/few/of/know/tricks/men
(a) The tricks of the trade know men few
(b) Few men know the tricks of the trade
(c) Few men trade the know of the tricks
(d) The trade the tricks know of few men

(5)

30. monsoon/rain/much/had/this/not/have/we
(a) We had not much have this monsoon
rain
(b) This monsoon rain we have had much
not
(c) Monsoon this rain we have not had
much
(d) We have not had much rain this
monsoon

Choose the most appropriate meaning of the
given idiom/proverb (Q.31 to 34)
31. Absence makes the heart grow fonder.
(a) If you don’t have a heart, you will still
love someone
(b) When you are away from someone you
love, you love him/her even more
(c) You are absent only when he/she is in
love
(d) None of these

32. A flower blooms more than once.
(a) If you miss an occasion, you can avail it
at another time
(b) Who says that the flowers only bloom
once?
(c) An occasion that is missed will not come
again
(d) None of these

33. Beauty is only skin deep.
(a) Beauty lies only on the skin
(b) Only a person with a beautiful skin is
beautiful
(c) A person’s character is more important
than his/her appearance
(d) None of these

34.The wound is the place where the light
enters you.
(a) Light covers wounds
(b) Light is important for wounds
(c) Wounds are made up of light
(d) Pain and suffering guide one to
enlightenment

Choose the correct option from Direct to
Indirect form of speech(Q.35 and 36)
35. Meera said “ | am very busy now.”
(a) Meera said that she was very busy then
(b) Meera says that she was very busy then
(c) Meera was saying that she was very busy
then
(d) Meera said that she was very busy now
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36. My aunt says, “l am unwell.”
(a) My aunt said that she is unwell
(b) My aunt had said that she is unwell
(c) My aunt says that she was unwell
(d) My aunt says that she is unwell

Select the correct active voice of the following
sentences (Q.37 and 38)
37. A large house was built by Ketan.

(a) Ketan built a large house

(b) Ketan builds a large house

(c) Ketan has built a large house

(d) Ketan had built a large house

38. The magazine had been read by Sarita.
(a) Sarita reads the magazine
(b) Sarita had read the magazine
(c) Sarita read the magazine
(d) Sarita has read the magazine

Select the correct passive voice of the
following sentences (Q.39 and 40)
39. Reena made a second attempt.
(a) A second attempt had been made by
Reena
(b) A second attempt is made by Reena
(c) A second attempt was made by Reena
(d) A second attempt is being made by
Reena

40. | will submit the manuscript tomorrow.

(a) The manuscript will be submitted by me
tomorrow

(b) The manuscript is. submitted by me
tomorrow

(c) The manuscript has been submitted by
me tomorrow

(d) The manuscript had been submitted by
me tomorrow

Tick the correct option (Q.41 to 50)
41. Of course my daughter is the girl
in the group.
(a) more beautiful
(b) beautiful
(c) as beautiful as
(d) most beautiful

42.1 think we are lost. The man have
given us the wrong direction.
(a) might
(b) should
(c) would
(d) will

(6)

43. What time did they _____ the hotel?
(a) arrive to
(b) arrive at
(c) arrive in
(d) get in

44, heisthin, he is strong.
(a) But
(b) As
(c) Though
(d) Because

45. Another way of saying “old fashioned” is
the times.
(a) beside
(b) behind
(c) outside
(d) None of these
46. | like coffee | don’t like tea
(a) but
(b) and
(c) so
(d) because

47. Next week we into our

new house
(a) will move
(b) had move
(c) do move
(d) moved

48. | English tea. Is it good?
(a) drunk
(b) have never drunk
(c) have drunk
(d) am drinking

49. The injured
ambulance
(a) were taking
(b) was taking
(c) were taken
(d) have taken

to the hospital in an

50.0n my African trip, | saw a of
lions.
(a) bundle
(b) army
(c) pack
(d) pride
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GENERAL KNOWLEDGE

51. Name the site of Indus Valley civilization
which is currently located in Pakistan.
(a) Kalibangan (b) Harappa
(c) Alamgirpur (d) Lothal

52. Who was the founder of slave dynasty?
(a) Balban (b) Razia Sultan
(c) Qutub-ud-din Aibak (d) ltutmish

53. were the first European who came
to India for trade.
(a) The English
(c) The Portuguee

(b) The French
(d) The Dutch

54. ‘Hornbill festival’ is a cultural festival
celebrated in which state?
(a) Assam (b) Nagaland
(c) West Bengal (d) Bihar

55. Identify the incorrectly matched pair.
(a) Mars — Red planet
(b) Jupiter — Largest planet
(c) Earth — Densest planet
(d) Venus — Coldest planet

56. Which among the following is the biggest
fresh water lake in the world?
(a) Lake Assal (b) Lake superior
(c) Lake Van (d) Dal lake

57. Which one of the following states has the
largest area under permanent forest?
(a) Bihar (b) Kerala
(c) Madhya Pradesh  (d) Uttar Pradesh

58. Delhi gets winter rainfall due to
(a) South West Monsoon
(b) North East Monsoon
(c) Conventional rain
(d) Western disturbances

59. Name the continent which is known as
“peninsula of Peninsulas”.
(a) Europe
(b) Asia
(c) Australia
(d) South America

60. Who is known as the “Milkman of India”?
(a) M Swaminathan (b) Vishal Tiwari
(c) Dr Arun Krishnan  (d) Verghese Kurien

(7)
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61.

62.

63.

64.

65.

66.

67.

68.

69.

City which is known as ‘Manchester of
North India’.
(a) Kanpur
(c) Agra

(b) Delhi
(d) Lucknow

Choose the incorrectly matched pair.
(a) Hockey — Aga Khan Cup

(b) Football — Ashutosh Trophy

(c) Chess — Ranji Trophy

(d) Boat Race — Nehru Trophy

The first musician to be felicitated with
“Bharat Ratna” was

(a) Pt Ravi Shankar

(b) M S Subhulakshmi

(c) Lata Mangeshkar

(d) Pt Bhimsen Joshi

Milk, eggs, cheese, yogurt and fish are rich

source of
(a) Carbohydrates
(c) Calcium

(b) Sugar
(d) Vitamin C

Who is the writer of the autobiography “My
experiments with truth”?

(a) Sardar Vallabhbhai Patel

(b) Bipin Chandra Pal

(c) Chandra Shekhar Azad

(d) Mahatma Gandhi

The “city of Siri” in Delhi was founded by

(a) Allahuddin Khilji (b) lltutmish
(c) Akbar (d) Shah Jahan

Who among the following is called as the
“father of Indian Renaissance”?

(a) Rabindranath Tagore

(b) Raja Ram Mohan Roy

(c) Swami Vivekanand

(d) Dayanand Saraswati

There are total oceans in the world.
(a)4 (b) 7
(c)6 (d)5

Which type of vegetation grows in saline
areas?

(a) Evergreen forests

(b) Mangrove forests

(c) Deciduous forests

(d) Mountain forests

(8)
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70. The first census of India was conducted in

the year
(a) 1881 (b) 1886
(c) 1882 (d) 1818
71, is also known as ‘golden fiber’.
(a) Jute (b) Cotton

(c) Sunflower (d) Pulses

72.‘Acid rain’ is a result of excess amount
of

(a) CO,

(b) NH,

(c) SO, & NO,

(d) Carbon monoxide

73.Which of the following is called ‘Mini
Constitution’?
(a) Government of India Act, 1935
(b) Government of India Act, 1919
(c) 44™ constitutional amendment
(d) 42 constitutional amendment

74.‘National Dairy Research Institute’ is

located in
(a) Kerala (b) Udaipur
(c) Karnal (d) Rohtak

75. ‘Richter scale’ is used to measure which
among the following?
(a) Earthquakes
(c) Volcanoes

(b) Wind speed
(d) Humidity

76. Who among the following is the ‘Father of
Computers’?
(a) James Gosling
(b) Charles Babbage
(c) Dennis Ritchie
(d) Bjarne Stroustrup

77. What was the code name of the operation
to conduct nuclear test at Pokharan in May
19987
(a) Shakti
(c) Budha

(b) Hansa
(d) Shiva

78. Identify the legend whose birth anniversary
is celebrated as ‘National Sports Day’.
(a) Major Dhyanchand
(b) Pullela Gopichand
(c) Kapil Dev
(d) Mohammad Ali

(9)

(2) 1881 (b) 1886
(c) 1882 (d) 1818
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79.

80.

81.

82.

83.

84.

85.

86.

87.

Which animal has longest gestation period?
(a) Human being (b) Camel
(c) Fox (d) Elephant

Growing new plants & trees is called
(a) Reforestation (b) Deforestation
(c) Afforestation (d) All of these

Which layer is between core and crust of
the earth?

(a) Magna (b) Martel
(c) Mantle (d) Mental
Liver is an gland.

(b) Endocrine
(d) None of these

(a) Exocrine
(c) Both (a) & (b)

Which of the following dates are celebrated
every year as the ‘UN Day’?

(a) 28 Oct (b) 24 Oct

(c) 28 Sep (d) 24 Sep

“Quit India Movement” is also known
as

(a) Khilafat movement

(b) Swadeshi movement

(c) Home rule movement

(d) August Kranti

was the perpetrator of Jallianwala
Bagh Massacre in Amritsar.

(a) General Reginald Dyer

(b) Lord Curzon

(c) A O Hume

(d) Annie Besant

The ‘Durand line’ is the International border
between which two countries?

(a) India & Myanmar

(b) India & China

(c) India & Pakistan

(d) Afghanistan & Pakistan

Which union territory has ‘French’ as a
commonly spoken language?

(a) Puducherry

(b) Chandigarh

(c) Daman

(d) Goa

(10)
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88. Which of the following football player |s
known as “Black Pear|”?
(a) Ronaldo (b) Pele
(c) Francescoli (d) Kunde

89. What is the new name of ‘Firoz Shah Kotla’
Ground?

(a) Ajit Wadekar Stadium

(b) Gautam Gambhir Stadium
(c) Narendra Modi Stadium
(d) Arun Jaitley Stadium

90. Who is the ‘father of world cinema’?
(a) Le Prince
(b) Louis Lumiere
(c) Dada Saheb Phalke
(d) None of these

91. ‘North pole’ was discovered by
(a) John Cobot (b) Robert Peary
(c) Amundson (d) Captain Cook

92.A compai:t disc when seen in the sunlight
give out rainbow like colours dueto
(a) reflection & diffraction
(b) reflection & transmission
(c) diffraction & transmission
(d) refraction, diffraction and transmission

93. The first British Presidency in India was
established at ___
(a) Surat (b) Madras
(c) Bengal (d) Bombay

94, Which neighbouring country would you
reach, if you sail across the Palk Strait.
(a) Bangladesh (b) Maldive
(c) Myanmar (d) Sri Lanka

95, What is the maximum strength of the Lok
Sabha envisaged by the constitution?
(a) 545 members (b) 550 members
(c) 552 members (d) 555 members

(11)

KK,

#9,

90,

91.

92.

93.

94,

95.

fprstfenfian if @ faer eatier fererd) A T
Wy A0 ) e A R

(n) 1) (b) et
(¢) wilftrapyal (d) %%

Fortrar vITE TRrzern AT i s o Ry
() 3tfrar arda wefeaw

(1y) sy resfir w2

(c) itz ) wfem

(d) sr8or Sreeft wefemm

“Forer ferram 3 TR’ oA B
(a) & firm

(b) T

(c) STeT HTeel Feah

(d) 38 & s 7t

Wl g F @S gRT S ot
(a) S FHATE (b) Tard et
(c) feE (d) e

U e e i 5/ §F % Sepr o 2w S @
1 forwr arore & $Rvy S O faherd €7

(a) faferer &R foredar

(b) wrferfefer s srwoT

() ferada 3R deroy

(d) A9, ferar 3T =

T H qeeh e Sefteeht et wunfi g ot 2
(a) (b) 7=
(¢) smTTe (d) =it

Ife ST YTeeh SITSHERE =l IR FTd & ) 3179 frg

T} <1 I W &2
(a) ST (b) T
(c) WM (d) Hreienr

wfaar g uferfera e § e sifrean
HaE B €7

(a) 545 HG= (b) 550 WEET

(c) 552 W™ (d) 555 weEg
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96. Which of the following is not a permanent
member in the Security Council of United
Nations which has 15 members?

(a) China

(b) Germany

(c) United Kingdom
(d) France

97. Who wrote “Gulliver’s Travels”?
(a) John Bunyan
(b) John Gay
(c) Jonathan Swift
(d) John Webster

98. The “Ten degree channel” is a channel that
separates___
(a) Nicobar & Andaman Islands
(b) Little Andaman from the east of the
Andaman Islands
(c) Minicoy from the west of the
Lakshadweep
(d) Somalia Island from Nicobar Islands

99. The “Ram Mandir Bhoomi Poojan” was
done on
(a) Jan 2, 2020
(b) April 10, 2021
(c) August 5, 2020
(d) Sept 10, 2021

100. Who was the project director of ISROs
mission “Chandrayaan-2"?
(a) Nandini Harinath
(b) Aditi Pant
(c) Muthayya Vanitha
(d) None of the above

(12)

96. Tk Ty I 15 wewdi drcl G Uit §
frrferfaa o & i T GG TR 27
{n)?ﬂ?
(b) sretft

(c) ¥T3eE féhmem

(d) &

97. "nfered Zaea” T forar 27
(a) S ET
(b) S 7
(c) StHTeH fage
(d) ST IeE

98. "a@ faft Ser wwh V@ FA RS F AT
TR |
(a) PPl 37K 3feam v ag
(b) TSHH &9 WE o & § Bl 3eaH
() FeTei  ufam & e
(d) Frepram i wE & Fferar 69

99. " HfR wfruwm" _ FifermmEm O
(a) 02 SFELT 2020
(b) 10 27 2021
(c) 05 3TTET 2020
(d) 10 Feawr 2021

100. 36U & YA “sigam-27 & qREisET v w9
off?
(a) At efemy
(b) tfferda
(c) HEk afrr
(d) 579 9 13 TE
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MATHEMATICS

4 3
101. x*+2x3 —2x2 4+ 2%y — 3 s exactly

divisible by:
(a) x* + 2 — 3 (b) x? + 2x — 3
(©x*+x—6 () a®+x=6

102. If both (x — 2) and (x — %) are factors of

2
px“ + 5x + r, then which one is correct ?

(@)p =2r
(b) pr =1
©f=1

(d) None of these

103. Find the LCM of Polynomials
f(x) =4(x—1)%?(x*+6x+8)and
g(x) =10 (x — 1D (x+2)(x* + 7x + 10)
(@) 20(x — 1)%(x + 2)*(x + 4)
(b) 20(x —D(x+2)’ (x+4)(x+5)
(c) 20(x — D)*(x + 2)*(x + 4)(x + 5)
(d) None of these

104. A team of 30 men is supposed to do a
work in 38 days. After 25 days, 5 more men
were employed and the work was finished
one day earlier. How many days would it
have been delayed if 5 more men were not

employed ?
(a) 1 Day (b) 2 Days
(c) 3 Days (d) 4 Days

105. If the wages of 45 women amount to
Z 46575 in 48 days, how many men must
work 16 days to receive ¥ 17250, the daily
wages of a man being double than those of
a women?

(a) 20 Men
(b) 25 Men
(c) 30 Men
(d) 15 Men

106. Ifa:b:cisl:3:2andc:d:eisl1:2:3,
Finda:b:c:d:e?

(@)1:2:3:4:5
(b)1:3:2:4:6
€)1 :4:3:2:6
(d)1:6:3:2:4

(13)

101, x* + 2x3 — 2x? + 2x — 3 Yofaan ferfera

ﬁ?ﬂ?:
(a)x® +2x—3 (byx? +2x—3
©x*+x—6 ((I)x3+x—6

102. Irf%(x—-Z)aﬂ?.(xri)FiFﬁ?ﬁ px? +5x +,

¥ TGS ¥ I AR HA B 7
(ap = 2r

(b)pr =1

(©F=

(d) 3T & 1 T

103. EYEI % AHAH FHIEA 1 B

F(x) = 4 (x —1)? (x? + 6x + 8) 3R
g(x) =10 (x — 1)(x+ 2)(x* + 7x + 10)
(a) 20(x — 1)%(x + 2)%(x + 4)
®20(x—1D(x+2)? (x+4)(x+5)

(©) 20(x — 1D?(x + 2)?*(x + 4)(x + 5)

(d) 99 9 IS el

104. 30 I HI Tk I I 3 RAT A TF FHFATR |

25 Tt 3 g, 5 3R et &t o foram e 3
FM T T vt guTe & W | Al 5 SR gest w

Frnfre 7 fom o o fopan Rt Fr G enft 2
(a) 1T OPAL
()3 (d4f=

105. 45 wigamait 6 werght 48 AT & T 46575 & el

®1T 17250 Ww W % fore for ot = 16 R
T HEAT FAMEY, Th To9 <ht 2 woiglt o wieen
<t it AT gerT H A 2

(a) 20 T&9

(b) 25 T&9

(c) 30 T&9

(d) 15 789

106, AGa:b:c TR 1:3:2F3Mc:d:e

JUER]:2: 3%, ATAHL a:b:c:d:e?
(a) 1: 5

() 1:
(c)1:

3 I
V2
13
(d)y1:6:3:

> B ow
[T TS T SO

6
16
14
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107. A is inversely proportional to the cube of
B.IfA=3,thenB=2 IfA= % then find the

value of B,
(a)3 (b) 4
(c)5 (d)6

108. A farmer travelled a distance of only
61 km in 9 hours. He travelled partly on foot
at 4 km/hr and partly on bicycle at 9 km/hr
speed. The distance travelled on foot is :

(a) 14 km
(b) 15 km
(c) 16 km
(d) 17km

109. A train was late by 6 minutes. The driver
increased its speed by 4 km/hr to reach the
next station on time which is 36 km away.
Find the original speed of the train?

(a) 32 km/hr
(b) 33 km/hr
(c) 34 km/hr
(d) 36 km/hr

110. The difference between the simple
interest received from two different sources
on ¥ 1500 for three years is ¥ 13.50. The
difference between their rates of interest is:
(3)0.1%

(b) 0.2 %
(c)0.3%
(d) 0.4 %

111. The roots of the quadratic equation
ax? + bx + ¢ = 0 will be reciprocal to each
other if:

(@a==
(b)a=c
(cJac=b
(dja=b

112. If (x + i) = /3, then the value of

x506+x500 +x3ﬁ4 +x373 +x190 +x184+
2184 412 o

(a) 84
(b) 206
(c) 0
(d) 1

(14)

107. A, B % 7 % oAl & 1 A A =3 R 3
B-2%19RA = -E%,a“rsmmﬁmam

(a)3 (b)4
(c)5 (d)6

108, 1 Frart o) Fretreize 1 76 9 52 1 7 Far d
7 arifers 7t 4 Fpetredfrar wfa w21 41 nfa 4 =y
o sifies gt o Freinfize fi dzr A af 3
wrdfere 10 A & | et 1 A 7 P
(a) 14 ferardier
(b) 15 Ferernizt
(c) 16 feremdftz
(d) 17 fereirdier

109, W 3 6 firre forawa @ off | =rerh o7 it A 4
fepeft/eizr & wrgr 2ar 2 fore® 37 aret w9 o W
agadt 2 S 3 36 fopdft. i gt w2 | 37 o ot ifr
T AL ?

(a) 32 ferdi/ean
(b) 33 fersfi/eier
(c) 34 Tersftreer
(d) 36 Terefi/eier

110. % 1500 Y 93T 9T 31 AT-31T Gt ¥ 71
FuT o YTH GIYROT 41 7 3T T 13.50 B | %
STST & T T FT 27
(a) 0.1 %

(b) 0.2 %
() 0.3 %
(d)0.4 %

111, A e ax? + bx +c =0 T A T
TR FET e A :

(a)a==
(b)a=c
(cac=b
(da=b

1
112, &R (x+;) = 3, @
x506 + x500 + x384 + xS?B & x190 % x184l +
x18 4+ x12 HmUFmRETEm

(a) 84
(b) 206
(©)0
(d) 1
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113. If X = 3 + 2+/2 and Xy =1, then find the

3

x343 3

value of -—é—-——{)r_?_’_

x2— 2

(a) 53 sy
9 11
209
(b)??-
205
(5 s
201
(d)—32—

114. Asum of 2 2100 is to be paid back in 2
equal annual instalments. How much is each
instalment if the interest is compounded
annually at 10% per annum?

(a)¥ 1230 (b) ¥ 1240

(c) 21210 (d)Z 1220

115. What approximate sum of money at

compound interest will amount to
%2249.52 in 3 years, if the rate of interest is
3% for the first year, 4% for the second year
and 5% for the third year?

(a) T 1500 (b) X 1600

(c) T 1800 (d) T 2000

116. 16 children are to be divided into two

groups A and B consisting of 10 and 6
children respectively. The average percent
marks obtained by children of group A is 75
and the average percent marks of all the 16
children is 76. What is the average percent
marks of children of group B?

1

(a) 78 § (b) 775

2
(c) 78 (d) 775

117. If (3.7)* = (0.037)” = 10000 , then

what is the value of i - i ?
(a) 1
(b) 2
1
(C)E

(d)

(15)

13, 7 x =3+ 2V2 3 xy=1,7a

x343xy+y?
x2=2xy+y?

2009
(@)=

1 1T B

209

(b) ==

205
(C)3—?

(d) ==

114, %2100 TRT &1 9 ot 172, ol 2Y e fopgat &

arer it STt 2 | afe s o sert i 10%

TG T T & ST, I feea ot o 2
(a) X 1230 (b) T 1240
(€)% 1210 (d)Z 1220

115. <THale AT TS fohat TiT =61 =41 3 3 |

T 2249.52 €, afe =1 ) Uiy ved @ & fou
3%, TAC Y % foaw 4% R A ad F g 5% 7 )
(a) T 1500 (b) T 1600
(c) T 1800 ' (d) 2000

116. 16 sl 1 57T: 10 3R 6 F=a1 % 3§61 A

3R B # forrfoa fpn s 2 o A F =l %
3ftea fawr i 75 et 16 9= & sfma

SfeeTa 37 76 ® | BE B % sreal % aftga yfewra
HEFTR?

(2) 782 (b) 77

(c) 73§ (d) 77§

117. Ik (3.7)* = (0.037)” = 10000, =t

—i‘cﬁrmmﬁm ?

()1
(b) 2

(c) %

(d)5
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118. If x = a°l5— a'2/3, then the value of
x3 4+ 3xis:
2 1
(a)a *-;;
1

(b} g* ==

a?

(c)a+-}

(d)a—-=

a

119. Find the value of a?+b?+c?—ab—
bc — ca ifa=997,b =998,c =999
(a)3 (b) O
(c)1 (d)-3

120. If a, b, c are the sides of a triangle. Find
the type of triangle if
a’+b*+ct=ab+bc+ca
(a) Equilateral
(b) Right angle
() Isosceles
(d) None of these

121. 2a and 2b are two chords of a circle which
intersect each other at right angle. If the
distance from its intersecting to the centre
of the circle is ¢ and c is less than radius
then find the radius of the circle.

a?+b2+c?
@y
(b);VaZ + b2 + c
(c) VaZ + b% + c2

a2+b%+c?
(d) =2

122. The sum of three altitudes of a triangle is :
(a) Equal to the sum of three sides
(b) Less than the sum of sides
(c) Greater than the sum of sides
(d) Twice the sum of sides

123. varo circles touch each other internally.
Their radii are 2 cm and 3 cm. The biggest

chon:d of the greater circle which is outside
the inner circle is of length:

(a) 2VZ cm (b} 3VZ em
(€) 4vZ em (d) 8YZ cm

(16)

s, wf x=alr - a~/3, @ x* +3x FUR
1 A 7
(a)a2+;12-
(b) a® ——

a2

(c)a+l

a

1
(da-=
119. % a = 997,b = 998,¢c = 999 2
A +b*+ct—ab—bc—ca T HT T -
()3 ()0
(c)1 (d)-3

120. € a, b, ¢ Q%ﬁgﬁﬁgﬁﬁ%aﬂt
a? + b? + c% = ab + bc + ca & @ Fn e
WeRTL T /I 2
(a) THSITE
(b) BRI
(c) wmfEsTg
(&) TR A FE T

121, af 2a 3T 2b I A A W N EH W
o 2 | 2Rt Sam et yfeese Hd 8, A I F
ﬁaﬁwﬁgﬁ@c%(maﬁ#ﬁww‘raﬂ
f e

a2+b2+c?
(a}*‘ :

(b) >VaZ +b% + ¢2
(c) Va? + b? + c?

a2+b2+c?
(d) -

122. P & i s A e
(a) AT ST 6 ANT % T
(b) T STl <6 A &
OEEESISERUEEIRC]
CEEEEISIERUET T

123, 3 e € g R 8
forsarr 2 Bl SR 3 AR R) aiﬁfrm"aj%:m%ta%%“

Y e w2t St fehet oems Al 2 2
(a) 2v2 cm (b) 3y2 cm
(c) 4v2 cm (d) 8v2 cm

SET-AICLASS—IXIZOZ“':S



124. A cylindrical tank of diameter 25 c¢m is full

of water. If 11 litres of water is drawn off,

the water level in the tank will drop by :

—22
(Usem = ?)

1
(a) 10; cm
(b) 12§cm
(c) 14 cm

(d) 22-Ecm

125. Two trains of length 100 m and 80 m

respectively run on parallel lines of rails.
When running in the same direction the
faster train passed the slower one in 18
seconds, but when they are running in
opposite directions with the same speed as
earlier, they pass each other in 9 seconds.
Find the speed of each train.

(a) 10 m/s, 25 m/s (b) 5m/s, 15 m/s

(c) 15 m/s, 20 m/s (d) None of these

126. A, B and C can walk at the rates of

3, 4 & 5 km/hr respectively. They start from
Pune at 1, 2 & 3 O’clock respectively. When
B catches A, B sends him back with a
message to C. When will C get the message?
(a) 4:15 O’clock

(b) 5:15 O’clock

(c) 6:25 O’clock

(d) Can’t be determined

127. The ratio of the ages of Geeta and her

mother is 1:5. After 7 years the ratio
becomes 3:8. What are the present ages of
Geeta and her mother?

(a) 5 Years, 25 Years

(b) 6 Years, 36 Years

(c) 7 Years, 49 Years

(d) 8 Years, 64 Years

128. By selling an article for ¥ 1080, a man

gives 10% discount and earns 30% profit. If
the article is sold at 5% discount then what
should be profit percent?

(a) 37.2% (b) 37%

(c) 38% (d) 41%

(17)

124. 25 Gt =m ATl sFTFR G T T g R |

nf7 11 efter arht Fraprer ferm e a9 290 o ot @
v @ 0 (o = %;

@ 10

(b) 12 2

(c) 14 gft

(d)ZZEéTﬁ

125. 100 Hiex wa 80 Hex awg areft 31 wmtsar

TR it W aedt ¥ | afg aE v @ femr A
I T & 4 o i § Ter areft mEh o afa &
I IreAT T 18 Tehe H YR I ol B, W AfE T
misat o gae A favdia foan & 9o & 2 91 9w
F T U 9 Yohe FT G0 T & | SHT Terear
EIRICECI

(@) 10"/, 2541 /A (b) 5HT/A., 1554
(c)15dt@, 20 /@A (d)FHAFE A

126. A, B 3 C SHUTT: 3, 4 UF 5 Tt wia g7 v nfa

Y T WHd & | A1 IO H HE: 1, 2 T 3 I A
FAE | FIB, ATH Iga T2 dl B, ASRIC &
foTe g ATl ® | C i q=AT el W Bt 2

(a) 4:15 O’clock

(b) 5:15 O’clock

(c) 6:25 O’clock

(d) §va &

127. TftaT 3R Sweh! ATAT T TAHH AR HT A 1:5

21 7 a¥ @17 98 U 3 : 8 &l e I Iwhr
TTaT i FAHT A7y fehal 8 2

(a) 599, 25 94

(b) 6 99, 36 T4

(c) 79, 49 9

(d) 8 94, 64 Id

128. T Afth AT 6 H 10 % I P& W 1080 7

SIAT 8 3 30% T A FHATAT @ | AT T H 5%

1 T TS IR a7 wferere ferem @ 2
(a) 37.2% (b) 37%
(c) 38% (d) 41%
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129. At the marked price of 36 pens, a retall
seller buys 40 pens, If he give 1% discount
on marked price, find his profit percent,

() 10.2 % (b) 10.5 %
(€)11.5% (d) 10%
a b
130. 1t o= 4+ m i =1, then find the

“ h? ‘.?
value of — + — 4 —
btc  c+a n+h

(a) 0 (b)-1
(€)1 (d) 2

131. A sphere is put in a cube such that it
touches each surface of cube. Find the ratio
between volumes of cube and sphere:
(a)1:2
(b)21:11
(e)11:21
(d)2:1

132. Water flows out through a circular pipe
whose internal diameter is 2 cm, at the rate
of 6 metre per second into a cylindrical
tank, the radius of whose base is 60 cm. By
how much will the level of water rise in 30

minutes?
(a)2m (b)3 m
(c)dam (d)5m

133. If [p] means the greatest integer less than
or equal to p, then [—%] + [4%] +[3] is
equalto:

(a) 4
(b) 5
(c)6
(d)7

134. A man can row 9 % km/hr in still water and

he finds that it takes him thrice as much
time to row upstream as to row
downstream (same distance). The speed of
the current is:

(a) 3’; km/hr
(h) 3‘; ken/hr
(c) 4{ km/hr

(d) 1% km/hr

(18)

129, U AT wmqrlY, o v A @ 36 1 % Hfgn
e e 40 1 ahzar AR AR kR
Hen 1% #) !?7, # U 9 2 ’- 7‘" ELEANE ]
yferera wran & |

(2)10.2% (b) 10.5 %
(€)11.5% (d) 10%
130, 7 — g 1,0

Hc cta a+bh

2
“_z.;._h—-l--—c— 1 0T 1 F |

b4c  cra ath

(2) 0 (b) -1
(c) I (d)2

131, T A i S eI waE F g g T e
@ T R | oA e % ArrE 3 S 9
Hif |
(a)1:2
(b)21: 11
(c)11:21
@2:1

132, T G v TS, Fore Tt A 2 8
2 ¥ T A 6 e v A I WA Th SEHER
¥ o wear 2 forh amaw 1 B 60 Wf R 130

forr o qreft 36 e o g AR |
(a)2m (b)3m
(c)4m (d)5m

133, af [p] & ond ® we@ o I S p, A FAN
e ardd[-2] + [43] + Bl A
(a)4
(b) 5
(©)6
(d)7

134, @mﬁsmmw e fr A T T
mﬁlﬂw%ﬁm%wmﬁ B
foam & S ot e & ot AT o T § (N
HKUEIRIEIRI GRS

(a) 3-;- Eifer)
(b) 3% fapfyfer
(©) 4§ Frfipar

() liﬁm"rm
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135. There are 3 members in a family, mother,
father and son. The average age of the
three members was 42 years on the day of
their son’s marriage. After 6 years of the
marriage, the average age of the family will
be 36 years when a grandson was born after
2 years of the marriage. Find the age of the
daughter-in-law at the time of marriage.

(a) 26 Years

(b) 27 Years

(c) 28 Years

(d) 29 Years

136. In a right angled triangle ABC, 4B is right
angle. BC is produced to any point D in such
a way that BC=2DC. (BD>BC), then which
one of the following is correct.

(a) AC? = AD? - 3CD?

(b) AC? = AD? - 2D’

(c) AC? = AD? - 4CD’

(d) AC? = AD? - 5CD?

137. AB is a diameter of the circle, CD is a

chord equal to the radius of the circle. AC
and BD when extended intersect at a point
E. Find 2 AEB.

(a) 30°

(b) 60°

(c) 45°

(d) 90°

138. A,B,C,D are the vertices of a square and M

is the midpoint of AD. N is the intersecting
point of AC and BD. Find ratio of 0 AMNB :
O ABCD

(a)8:3

(b)3:8

(c)4:1

(d)2:3

139. A person invests money in three different

schemes for 6 years, 10 years and 12 years
at 10%, 12% and 15% simple interest
respectively. At the completion of each
scheme, he gets the same interest. The ratio
of his investments is:

(a)6:3:2

(b)2:3:4

(c)3:4:6

(d)3:4:2

(19)

135. feh afEr § & geer & far, wmar 3R e |

% > 6 e g gfar i vad I 42 99 off |
T % 6 o g weE SftEa T 36 I A,
T T Y 7 9 I % 2 9 W% g | W 6
a7 wg i 317y Frare |

(a) 26 74

(b) 27 T

(c)28 a9

(d) 29 7

136. " Brgst ABC # £B oI % | BC i 38

v&R D fiig @ =rern wmar ® f§ BC=2DC 2 |
(BD>BC), at Fr=fifiaa # & =19 a1 A 51 27
(a) AC* = AD* - 3CD’

(b) AC’ = AD* - 2CD*

(c) AC* = AD’ — 4CD’

(d) AC* = AD’ - 5CD’

137. AB 99 &I M ? 3R CD Sftar, 5 39 $i s

¥ SUST 2 | AC 3 BD &I S« 9/ [T € al 98

Ewfiedt® ) 2 AEB¥m=t|
(a) 30°
(b) 60°
(c) 45°
(d) 90°

138. A,B,C,D & @i % ¥iid § 31 M, AD %1 5e7 fig

2 | N, AC 3t BD @ wadfa fig 7 |
0 AMNB : 0O ABCD 1 31ura 3a &1 |
(a)8:3

(b)3:8

(©)4:1

(d2:3

139. U% =ik 9 = SER § 10%, 12% ¢T

15% ¥ GTERY S 6 X FHAW: 6 99, 10 T§
ot 12 99 % fore = Frae #2ar @ | v A H
Ty X 3 WWH SATS W wT @ | S8 o A
1 ST FT T

(a)6:3:
(b)2:3:
(c)3:4:
(d)3:4:

(S T = T SO (6
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140. An equilateral triangle and a regular

hexagon are inscribed in a given circle. If a
and b are the length of their sides
respectively, then which one of the
following is correct?

(a)a®=2b’ (b) b?=3a’
(c)b?=2a (d)a?=3b?

141. If a and B be the roots of the equation

2 . @
ax? + bx + ¢ = 0, find the value of 5 + e

ab-b%*c
2b2c

(a)

3bc a®

(b)

3ac-b?
aZc

(c)

3abc-b3
(d) a’c

142. Let a,b,c be the positive number. The

following system of equations in x,y and z

xz yZ 22_ . xz_yz ZZ-l.
22 b2 2 ] az b2 &
=+ 42 = 1 has:
—§+§ P as:

(a) No solution

(b) Unique solution

(c) Infinitely many solutions
(d) Finitely many solutions

143. Aright triangle whose sides are 15 cm and

20 cm is made to revolve around its
hypotenuse. Find the volume and the
surface area of the double cone so formed.
(Use m = 3.14)

(a) 3678 cm®, 520 t cm?

(b) 3867 cm?, 524 tcm?®

(c) 3768 cm®, 420 it cm?

(d) 3876 cm?, 424 n cm?

144. Which one of the following number will

completely divide? (3%° + 326 4 327 4 328)
(a) 11
(b) 16
(c) 25
(d) 30

(20)

140, fi e, st % w T P 3 T Rafig

Waﬁﬁa%lwﬁaaﬂtbm TR TS

mia‘fﬁnﬁrﬁﬂﬂﬁﬁmm@wmﬁ
(a)a’ =2V’ (b)b* =32’
()b =24’ da’ =31’

141, q&aﬂtﬁaﬁmax2+bx+c=0#

e, &= + Bzm‘rqﬁma’h

ab-b%*c
Zb%c

(a)
(b)

3bc-a®
b2c
3ac-b?
a?c
3abc—-b3
aZc

(c)
(d)

142. ma,b,cmmﬁwq“éiﬁﬁﬂqmnamﬁ

F el FX, Y IR 2 ¥

2

az ' b2z ! a2 b2 ' ¢z
—-x—z+y—z+%= 1, @
a b c
(a) A T T
(b) ThH &
(c) Id IH T
(d) Frfdra oRs &

yZ 32 1 . xl y2 z2 _

143, ok Huahiv Bt fomeht e 15 Jeft 3 20 w6

&, 39 F9 o IRI A I o F AR T R |

T S SR F H A IR g Sk 0
| (7 = 3.14)

(a) 3678 AT, 520 e AP
(b) 3867 THY’ | 524 n Af?
(c) 3768 VY’ | 420 rr AfY?
(d) 3876 ¥t | 424 n A

144, ﬁqﬁ'{%ﬁ'ﬁ'ﬁqﬂqmm (325+326+

327 + 3%8) = o v et 22
(a) 11
(b) 16
(c)25
(d) 30
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45. On the vertex of a square, takin
centres, 4 equal circles are drawn sogthas
each touches two of g, Another r.:ircTlt
touching all 4 circles ang lies within ‘he
square is also drawn. |f the side of thz

square is 24 cm, find the ares of another
circle.

() 23.04 tcm’
(b) 23.06 T cm’
() 17.68 1t cm?’
(d) 13.52 tem?

146. Area of a regular hexa
Find its sides

(a) 7 cm

(b) 6 cm

(c)8cm

(d) 9 cm

gon is 544/3 cm?,

147. The base and altitude of a right angled
triangle are 12 cm and 5 cm respectively.
The perpendicular distance of its
hypotenuse from the opposite vertex is:

() 4= cm

(b) 4= cm

(c)5cm

(d) 7 ecm

148. There are two paths each 10 m wide and

cut each other perpendicularly at the mid of
a garden 150 m long and 120 m wide. Find
the cost of graveling the path at ¥ 2/m??

(a) ¥ 5200/-

(b) ¥ 4800/-

(c) % 5600/-

(d) % 4400/-

149. A runs li-tirnes as fast as B. If A gives B a

start of 30 m, how far must the winning
POst be, so that A and B reach it at the same
time?

(@)52 m

(b) 75 m

(c) 69 m

(d) 70 m

(21)

145, T v 3 = BT 1 PR A AL T

mmﬁmﬁﬁﬁﬂﬁ*@maﬁwmﬁ
mﬁﬁaﬁ%m%ﬁtﬂaﬁﬁaﬁ S5
m@mﬂm?l"ﬁaﬁﬁwmm 24

R it gt g7 o1 A A 1 |

(a) 23.04nﬁ"ﬂl

(b) 23.06 n &Y’

(c) 17.68 n A’

(d) 13.52 n A=Y

146, T Frafi T 1 AAFA 504/3 ft 2 |

m—:ﬁlgmxﬁmmﬁﬁﬁl
(a) 7 Gft
(b) 6 Tt
(c) 8 ot
(d) 9 Bt

147. foreft wmeptor Bngsr =1 smar 12 @t 991 0 5

ot % | 3uh fasot <t faatia i & o gl 90
I

(a) 4 Beft

(b) 4= Teft

(c) 5T

(d) 7 @t

148. 150 Ht. &/ 3 120 W, 91 =17 ¥ dHray

TER FHHI W Fed §¢ 10 W, R A ey a3y 2

X 2 wfer ot ot = & et gt et
T IS ?

(a) T 5200/-
(b) T 4800/-
(c) ¥ 5600/-
(d) T 4400/-

149, A,Bﬁléuﬂrﬂﬁrasm%m&&aaitsoma

ST Pt 3 R, A it v e etz

e A A 31 B e W g e
(a) 52 HfreX

(b) 75 Hex
(¢) 69 Hiex
(d) 70 Hrex
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150. In the figure AB=BF=FD=DE=EC=CG =
AG, then 24 is :
D

A

(a) 24.7°
(b) 25°
(c) 25.7°
(d) 29°

151. Let O be the in-centre of a triangle ABC

and D be a point on the side BC of A ABC,
such that OD 1 BC. If «BOD = 15°, then
£LABC =
(a) 75°
(b) 45°
(c) 150°
(d) 90°

152. There were 35 students in a hostel. If the

number of students increases by 7, the
expenses of the mess increase by ¥ 42 per
day while the average expenditure per head
decreases by % 1, Find the original
expenditure of the mess.

(a) ¥ 550/-

(b) ¥520/-

(c) T 450/-

(d) ¥ 420/-

153. If the numerator of a fraction is increased

by 200% and the denominator is increased
by 400%, the resultant fraction is 1-210. What
was the original fraction?

3
(@) 13

(b) —

10

(C)E

1

(d) 1

(8

(22)

150. Rumu ez AB =BF =FD=DE=EC=<

CG = AG, 7t LA FTaF I
D

(a) 24.7° G F €

(b) 25°
(c) 25.7°
(d) 29°

151. =11 % O Fnjsr ABC @1 3fd &% @i g D

¥oT BC W 3@ 5K fiua 2 f5 oDL BC. af
ZBOD =15°, @9 LABC =

(a) 75°

(b) 45°

(c) 150°

(d) 90°

152. T SEER T 35 9 4 | 3fd 7 SE1 H HEN T

At 2, 99 g w Ed § € 42 Wi A A afe E R,
Sy safs laa @S 2 | SN AT | HE
Jreafas @< Fid i

(a) ¥ 550/-

(b) ¥ 520/-

(c) T 450/-

(d) ¥ 420/-

153. afe frft it 3 39 & 200% 3T 2T H 400% F

o 1 et & < oo frr 1o- @ 1 E
(EEE e
3
(a)l;
11
(b) 33
CE

(d)l%
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454. Four milkmen A, B, C and D hire a pasture
A has 18 cows that graze for 4 months B
has 25 cows that graze for 2 months, ¢ l;as
28 cows that graze for 5 months anc; D has
21 cows that graze for 3 months, If A pays

3360, then what is the rent of the pasture?
(a) ¥ 1625
(b) % 1240
(c) ¥ 1340
(d) T 2260

155. Vessel A and B contain mixtures of milk
and water in the ratio 4 : 5 and 5 : 1
respectively. In what ratio should quantities
of mixture be taken from A and B to form a
mixture in which milk to water is in the ratio
5:4?

(@)2:5
(b)4:3
€)5:2
(d)2:3

156. A container contained 80 L milk. From this
container 8 L of milk was taken out and
replaced by water. This process was further
repeated two times. How much milk is now
contained in the container ?

(a) 58.23 L

(b) 58.32 L

(c) 85.23 L

(d) 85.32 L

157. If AB is diameter and CA =5 cm and radius
= 6.5 cm then find Area of A ABC

C

(a) 60 cm?
(b) 30 cm?
(c) 40 cm?
(d) 52 cm?

(23)

154, <R @rel A, B,CaﬁtD%ﬁWﬁm

for g ) A%lawfrlgrrmuiﬁ?faué,aﬁzs
mzqﬁ#arré,c?fzsnmsnﬁw D21 TH
sqﬁﬁmluﬁgﬂﬁmﬁﬁﬁ/\mmi 360 B
ﬁmmwﬁﬂmm%’;

(a) 1625

(b) T 1240

(c) % 1340

(d) T 2260

155. qﬁAaﬁtBﬁm:mseﬂts:l%?’ﬁWﬁ

agaﬂtqmaﬁrﬁm%maﬁmﬁﬁaaﬁmﬁ
Foroft =6y T ot ST =R @ 5 : 4 % SIIa H
agaﬂrqvﬂmﬁm%mﬁu%?

(@)2:5

(b)4:3

(c)5:2

d2:3

156. U FHACH 80 et qu ¥ | 3EH 8 e gu Fiewrenw

T ST IHF T W U ST AT T | 39 Whee
T AT 3 IR SASET T | SR H 39k 921 fehat
T H g 27

(a) 58.23 FX

(b) 58.32 =X

(c) 85.23 &L

(d) 85.32

157. afe AB =® & 3T CA = 5 at, = = 6.5 ot

Al A ABC &1 &%t 14 U
c

(a) 60 T’
(b) 30 &’
(c) 40 Y
(d) 52 9=t
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158. In the given figure O and 0' are the
centers of two circles intersecting at B and
C. ACD is a straight line, find x.

(a) 100°
(b) 110°
(c) 120°
(d) 130°

159. A circle touches all the four sides of a

quadrilateral ABCD then
(a) BC + DA=AB +CD
(b) AB + BC=CD + AD
(c) ABCD is rectangle

(d) ABCD is square

160. Subhash purchased a refrigerator on the

terms that he is required to pay ¥ 1500 cash
down payment followed by ¥ 1020 at the
end of first year, T 1003 at the end of
second year and ¥ 990 at the end of third
year. Interest is charged at the rate of 10 %
per annum compound interest. What is the
approximate total interest paid for the
refrigerator?

(a) 5000

(b) 5100

(c) ¥5120

(d) 4000

161. ABCD is a trapezium in which BCis 8, CD is

10, AD is 12 and AB is 16. If side AB || DC,
then find the sum of square of its diagonals.
(a) 208
(b) 320
(c) 528
(d) 428

162. A vertical stick 12 m long casts a shadow

8 m long on the ground. At the same time a
tower casts the shadow 40 m long on the
ground. Determine the height of the tower.
(a) 40 m

(b) 50 m

(c)60m

(d) 70 m

(24)

158. Rumyfm# O and O AFHFFEENB IR C

qrqwia’taerm%r%l ACD & W& {@T ® | x %
T 1 e |

(a) 100°
(b) 110°
(c) 120°
(d) 130°

159. w@a@@wcnﬁaﬁgmﬁﬁmﬂ

Fare ad

(2) BC+ DA =AB +CD
(b) AB + BC=CD + AD
(c) ABCD & 34 &
(d) ABCD G ®

160. gmﬁ@mma%mwﬁmﬁﬂmﬁaé

Z 1500 7% TRT AeHIA YIAH & &9 7, I 1020
oy 99 ¥ 3d H, ¥ 1003@’(3&%3131‘#311{
Z 990 drae o ¥ 3fa & 23 BN Al AT Y T
10 % & 70 ¥ wioad Sshadt sar § <Y STt o
T RS AR B AT R |

(a) T 5000
(b) Z 5100
(c) Z 5120
(d) Z 4000

161. ABCD tHawe & RETBC=8%,CD=10%,

AD=1223MAB =162 32 91 AB || DC 2
A1 Ide faahoTt & 7 1 90T Ja L |

(a) 208

(b) 320

(c) 528

(d) 428

162. T 12 Hiex Tl Jealer o 1 wwn 6

S W 8 WX ® | 3 3¢t e v HiAw i o
1 TvaTg 40 Tt B A Hiw Y S=rd g U |
(a) 40 #ft.

(b) 50 .

(c) 60 .

(d) 70 .
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163. The distance between two parallel chords

of lengths 8 cm each in 3 circle of diameter
10cmis -

(a) 5.5 cm
(b) 7 cm
(c) 8 cm
(d) 6cm

164. A cylinder is surmounted by a cone at one
end and a hemisphere at the other end. The
common radius is 3.5 cm, the height of the
cylinder is 6.5 cm and the total height of the

structure is 12.8 cm. The volume V of the
structure lies between.

(a) 370 cm® and 380 cm?
(b) 380 cm® and 390 cm?
(c) 390 cm® and 400 cm?
(d) None of the above

165. A chord AB of a circle C; of radius
(V3 + 1) cm touches a concentric circle C

of radius (V3 — 1) cm, then the length of
AB is:

(a) 8V3 cm
(b) 4V3 cm
(c) 4v/3 cm
(d)2V3 cm

166. If the income tax is increased by 19% the
net income is reduced by 1%. The rate of
income tax is:

(a) 6%
(b) 4%
(c) 5%
(d) 7.2%

167. The price of sugar falls down by 20% and a
housewife is able to buy 5 kg more in 100.
Find the original cost price of sugar in  per
kg?

(a) T 8 per kg

(b) ¥ 9 per kg

(c) T 6 per kg

(d) 5 per kg

(25)

163. 10 ¥t g & o g@ & 8 Wt e B A

T Sare F T AR -
(a) 5.5 9t

(b) 7 @Y,

(c) 8 A,

(d) 6 T,

164. ITHR AFRT F TH e X 0 G W

T ek e foer g ® | A AR
gtﬁ?m 3.?&#1,%6{?%@31’ T B S
FHI: 6.5 T 3T 12.8 WY B | ATHHA 1 AT V
freafafaada fras i ?

(a) 370 AHY.? 3w 380 Tt ’
(b) 380 AHY.* 3 390 At
(c) 390 ¥t 3 400 QY.

(d)sﬁrﬂaﬁéﬂﬁ

165. 99 C, fwefr fisar (V3 + 1) &t & it @&

Sfar AB w3z g9 C, fswf = (V3 — 1)
Aft R, T T 2, M ABFI = 7

(a) 8v/3 |t

(b) 4¥/3 &t

(c) 43 Tt

(d) 2¥/3 &t

166. M STH 19% 9 1T R, A1 & 3777 1% FA 8

STt & O A R
(a) 6%

(b) 4%

(©) 5%

(d) 7.2%

167. = <fHft % 09 & 20% i F50 & wreht 2 o

et T 100 % 5 forelt atfrs <fieft wite ureit 21
=t 1 ATt e i e & gy -

(a) ¥ 8 wfer fomalr

(b) % 9w fereit

(c) T 6 wier femett

(d) T 5 ufa femett
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168. If January 3, 2008 was Friday. What day of
the week fell on January 3, 2009?

(a) Sunday

(b) Monday

(c) Tuesday

(d) Saturday

169. A regular hexagon is inscribed in a circle of

radius 5 cm. If x is the area inside the circle
but outside the regular hexagon, then which
one of the following is correct?

(a) 17 cm?<x<19cm
(b) 15 cm? <x < 17 cm
(c) 13 cm?<x< 15cm
(d) 19 cm* < x< 21 cm

[ S R

170. A circular ring with centre O is kept in the

vertical position by two weightless thin
strings TP and TQ attached to the ring at P
and Q. The line OT meets the ring at E
whereas a tangential string at E meets TP
and TQ at A and B respectively. If the radius
of the ring is 5 cm and OT = 13 cm, then
what is the length of AB?

(a) 10/3 cm

(b) 20/3 cm

(c) 10 cm

(d) 40/3 cm

168, AR 3 ST 2008 T YERAR & AN 3 Sl 200

Y HWTE T 1 a1 e B
(a) TeEm

(b) BFER

(RUGEIRS

CORURELS

169, 5 &t fwam aTel 8 o Siaria U GHYDIS ® | 3R

38 ¥ 3 T A T 3 AT A x 2,
freffaa T AP AT TH TR 22

(a) 17 < x < 19 T’

(b) 15 8| <x < 17 it

(c) 13 A < x < 15 A’

(d) 19 A’ < x < 21 P

170. qmqmmﬁnﬁumiao%,ahmfmﬁuﬁrﬁ

3 yaet T et TP 3R TQ g P 3R Q ¥
et w@r T R 1Y@ OT for & E 9 firerdt # 3
E W @33ta wadt TP 3R TQ #1 8- A B W
fiyerdt € | I for & fisar 5 9 & 3R OT = 13
Arfr A AB i =T I F 2

(a) 10/3 Tt

(b) 20/3 QHt

(c) 10 Tt

(d) 40/3 Bt

Directions: (Q.No. 171-175). Study the two
figures given below and answer the question.

B (wd 171 - 175); f=Rumwhsis
Ty § 9l o IS .

P —

| n Male Praf;;sor _Fernale Professor
. [
qo Hfgen B f

T

| e
|l 01(45- 54 Years) M2 (55-64 Years)
|

Physics  Mathematics Chermsh;v 8 Psychology
RS P rtona ot (Eweata (FeT
Tarm) )

Ec 1

03 (25-34 Years) =4 (35-44 Years)

(26)
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73 How many Physics profess
the age group 35 -44 >

(a) 18

(b) 16

(c) 14

(d) 12

ors belong to

172. Which one of the followin
the highest ratio of males to
(a) Physics

(b) Mathematics

(c) Chemistry

(d) Economics

g disciplines has
females ?

173. What  percentage of
Professors are females?
(a) 40%

(b) 50%

(c) 60%

(d) 70%

all  Psychology

174. If the number of female Physics Professors
in the age group 25-34 equals 25% of all the
Physics Professors in that age group then
what is the number of male Physics
Professors in the age group 25-34?

(a) 2

(b) 6

(c)3

(d)9

175. f the Psychology Professors in the

University constitute 2% of all the
professors in the University, then what is
the number of Professors in the university?
(a) 400
(b) 500
(c) 600
(d) 700

(27)

171. T witferr formr 3 b 3544 % oy = &

AT E 2
(a) 18
(b) 16
(c) 14
(d)12

172. ﬁmﬁrﬁgﬂﬁﬁﬁsqﬁwﬁgsﬁwq%maﬁ@r

ST AT 27
(a) siifoe g
(b) TTfore

(c) W fagmr
(d) arfamre

173. wft weitaes el o & fopamr wfersrar afeemd

[

(a) 40%
(b) 50%
(c) 60%
(d) 70%

174. AT 25-34 sy @t F wfeen A Sewi 6

AT 30 A1 % Wit faehr kel ¥ 25% F
TR &, Tl 25-34 30 77 & gow A Irsad 6y
HEITHTR?

(a) 2

(b) 6

(©3

(@9

175. wﬁﬁﬂﬁmﬁlﬁrﬁaﬂ%mﬁwﬁmw

o it el 7 2% 2 A Frafrara § Tad
e faradt 2 2

(a) 400

(b) 500

(c) 600

(d) 700
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INTELLIGENCE TEST

176. Arrange the words given below ina
meaningful sequence.
1. Caste 2. Family 3. Newly married

Couple 4.Clan 5. Species
(A)3,2,1,4,5 (B)3,4,5,1,2
(€)2,3,1,4,5 (0)4,5,3,2,1

177. Arrange the words given below ina
meaningful sequence.
1. Cut 2.Puton 3. Mark
4. Measure 5. Tailor
(A)3,1,5,4,2 {B)2,4,3,1,5
(€)1,3,2,4,5 (D)4,3,1,5,2

178. If A + B means A is the mother of B; A- B
means A is the brother B; A % B means A is
the father of B and A x B means A is the
sister of B, which of the following shows
that P is the maternal uncle of Q?
(A)Q-N+MxP (B)P+SxN-Q
(C)P-M+NxQ (D)Q-S%P

179. If A + B means A is the brother of B; A-B
means A is the sister of B and A x B means A
is the father of B. Which of the following
means that C is the son of M?
(A)M-NxC+F (B)F-C+NxM
(CON+M-FxC (D)MxN-C+F

180. If A + B means A is the father of B;A-B
means A is the brother B; A % B means Ais
the wife of B and Ax B means A is the
mother of B, which of the following shows
that M is the maternal grandmother of T?
(AAMXN%S+T (B)MxN-S%T
(COOMxS-N%T (D)MxNxS%T

181. In the series 2, 6, 18, 54, ...... what will be
the 8th term ?

(A) 4374 (B) 4370

(C) 7443 (D) 7434
182. 1,1,4,8,9,27,16,?

(A) 32 (B) 64

(C) 81 (D) 256
183. Peacock : India :: Bear: ?

(A) Australia (B) America

(C) Russia (D) England
184. Carbon : Diamond :: Corundum: ?

(A) Garnet (B) Ruby

(C) Pukhraj (D) Pearl

(28)

176. ﬂ%ﬁquﬁaﬁmﬂmmﬁmﬁmﬂ
| enfa 2. 9fEr 3. 7afaanfea sirer

415 Y9
(A)3,2,1,4,5 (B)3,4,5,1,2
(©)2,3,1,4,5 (D)4,5,3,2,1

177. ﬁmmﬁﬂmmﬁmﬁaﬁaﬁu
| AT 2. e 3. e e

4,919 5. @
(A')S,l.5,4,2 (B)2.4,3,|‘5
€)1 32,98 (D)4,3,1,5,2

178. uﬁmsmm%mf}ﬁﬁﬁm-amaﬁ%
A BFIEE; A %BH sd2fr A, BF T2
aﬂtAwaaﬁ%ﬁ;A,BiﬁW%,ﬁqﬁr@H
3 & = wn gt & 5 p, Q AT AT 87
(A)Q-N+MxP B)P+SxN-Q
(C)P-M+NxQ (D)Q-S %P

179. aﬁMBaﬂwi%A,Bmmré%;A-Bwani
%%A,Bﬁm%aﬂmxsaﬁmﬁ%ﬁms
aﬂﬁm%lﬁmfaﬁﬂﬂﬁﬁﬁmﬂaﬁ%ﬁc,bdm

T e?
(A)YM-NxC+F (B)F-C+NxM
(CON+M-FxC D)MxN-C+F

180. TR A+ BH IR A, BF A A - BH M
%A,BW#@%;A%BWw%%A,BﬁqFﬁ
2 3ft A x B %1 3 & % A, B R AT R, Frforfiaa
F§ P aramtar s e M, T A 2
(AAMXxN%S+T (B)MxN-S%T
(COOMxS-N%T (D)MxNxS%T

181, HWWAT2,6, 18,54, ...... ¥ 83 R FATEM?
(A) 4374 (B) 4370
(C) 7443 (D) 7434

182. 1,1,4,8,9,27,16,?

(A) 32 (B) 64

(C) 81 (D) 256
183. 1=|\112:‘T!'{T'l::‘l?r‘lT'!\:?

(A) Sireferan (B) Sriifet

C) ¥ WESH
184, e ; B :: A= : 2

(A) THE (B) &4l

(C) qEts (D) Tt
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pirections to solve (Q185 to Q186) :

p,Q R, 5T, U, V&W are sitting round the
circle and are facing the centre:

1. P is second to the right of T who is the
neighbour of R & V.

2. S is not the neighbour of P.

3. Vis the neighbour of U.

4. Qis not between S & W. W is not between U
& S.

185. Which two of the following are not
neighbours ?

(A) RV (B) UV
(C)RP (D) QW

186. Which one is immediate right to V?
(A) P (B)T
(C)R (D)u

187. A, B, C, D and E are sitting on a bench. A is
sitting next to B, C is sitting next to D, D is
not sitting with E who is on the left end of
the bench. C is on the second position from
the right. A is to the right of B and E. A and C
are sitting together. In which position A is

sitting ?

(A) Between B and D
(B) Between Eand D
(C) Between B and C
(D) Between Cand E

Directions to Solve (Q188 to Q190

Five girls are sitting on a bench to be
photographed. Seema is to the left of Rani and
to the right of Bindu. Mary is to the right of
Rani. Reeta is between Rani and Mary.

188. Who is sitting immediate right to Reeta ?

(A) Bindu (B) Mary
(C) Rani (D) Seema
189, Who is in the middle of the photograph ?
(A) Bindu (B) Seema
(C) Reeta (D) Rani

190. Who is second from the left in

Photograph?
(A) Reeta (B) Mary
(C) Seema (D) Bindu

(29)

aaTaT 3% S (Q185 to Q186) ©
P,Q,R,S,T, U,V 3 w g =T SR A3 ¥ SR

#) 3 g FF A3 o
1. P,T%aﬂqﬂ?ﬂﬂﬂ%ﬁﬁRﬁvm@Gﬁﬁ
2. S, P &1 gt 77 R

3.V, U aerd 2 )
4.Q.s3smwHAAHT AW, U 7 S % ot & T

B

185. Erfrfiaa & & 1 & 31 gSiHt 7€ #2
(A)RV (B) UV
(C)RP (D) QW

186. V % Frerean grd 9 87
(AP (B)T
(C)R (D)U

187. A,B,C,DINETHIAWIASEN A, BH T
AR, C, DF A H ASTE, D, E & G 781 93T &
SFTHACBLR RN CITA AT IR A, B
SNEF I IR ANCH TS A 5w
T YT A3T 27
(A) B3 D &=
(B) E 3D &&=
(C)BIRC &=
(D) C IRE &g

Ty % & Q188 & Q190)
ute wrgferat et Rawram & for e st o 34 8) e
Tt 35 1 e e i 3 i 0 2, T e i

Bl Gar, T SR F A g
188. T % 3tk A HH AT 9
() faig (B) it
(©) T (D) ¥
189, e F e s
(A) faig (B) &y
190. ﬁﬁﬂﬁaﬂﬁaﬁmwaﬂw%?
(r"\)ﬁ?ﬂ (B)ﬂ-ﬂ-
(C) ®i=T (D)ﬁiﬁ
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191. Which number will replace the question

mark ?
—
8
169 ; 5
;? 1
(A) 169 (B) 361
(C) 289 (D) 441

192. Which number will replace the question

mark ?
5 7 3
8 28 4 12 12 8 5 21 6
3 9 ?
(a) ®) ()
(A) -2 (B)1
(©o (D)-1

193. Rasik walked 20 m towards north. Then he
turned right and walks 30 m. Then he turns
right and walks 35 m. Then he turns left and
walks 15 m. Finally he turns left and walks
15 m. In which direction and how many
metres is he from the starting position?

(A) 45 m East (B) 30 m East
(C) 30 m West (D) 15 m West

194. Starting from the point X, Jayant walked
15 m towards west. He turned left and
walked 20 m. He then turned left and
walked 15 m. After this he turned to his
right and walked 12 m. How far and in
which directions is now Jayant from X?
(A) 47 m, East '

(B) 32 m, South
(C) 42 m, North
(D) 27 m, South

195. A boy rode his bicycle Northward, then
turned left and rode 1 km and again turned
left and rode 2 km. He found himself 1 km

west of his starting point. How far did he
ride northward initially?
(A) 1 km

(B) 3 km
(C) 2 km

(D) 5 km

(30)

191, w57 =g &1 €7 4 9T 37 AT 2

3 8
\.\ M._\
4 /49 169\ 5

I'- ‘-.. ? |529
\ 10 / 11
o)

9 | 12

.

(B) 361
(D) 441

(A) 169
(C) 289

192, w51 e &7 ©IT I |1 3ich A ?

5 7 3
|7;_ 28 | 4 | 12 | 12 SJ 5|21
3 9 I ? |i
(@) ) (c)
(A) -2 (B)1
(©)0 (D) -1

193, e I AT 3R 20 Hiex wrem fH T8 ¢ gear @
37K 30 Hiiet =erar 1 R ae g wear # =7R 35 Hiew
rerar 21 T a8 et 7R e @ 3fi 15 et seran
R) 3fqa: T At 3R qgar & 3 15 dieterar 21

a8 i Rufa & fora feam o sfi fram e
W

(A) 45 it (B) 30 Hiex g

(C) 30 et ufdm (D) 15 Hiex afem

194, foig X @ Y& 0, T 15 e afim i s
I T AT SR et 3 20 Hiet e R g and
RIS R 15 et <1l 36% 912 % a7t ars

3 T 3 12 T e 3 saeg X @ Reaft
3K o R 2 )

(A) 47 i, o
(B) 32 ey, 2y
(C) 42 Ty, Iex
(D) 27 #re, 2féqur

195. Uk wgehT 319+t wrsforer 3w oy 3ty e, fi
Waﬂtggmlﬁm‘rwamﬁwwﬁgw
2Mamlwﬁqaﬁmﬁ§wmﬁgmﬁ:ﬁ
WmﬁwlmﬁEﬁmﬁahmaﬂ

# N
(A) 1 foreft (B) 3 ot
(C) 2 forrdt (D) 5 fopdt
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196. A, B, C, D and E play a game of cards. A
says to B, "If you give me three cards, you
will have as many as E has and if | give you
three cards, you will have as many as D
has." A and B together have 10 cards more
than what D and E together have. If B has
two cards more than what C has and the
total number of cards be 133, how many
cards does B have ?
(A) 22
(C) 35

(B) 23
(D) 25

197. Choose the alternative which is closely
resembles the water-image of the given
combination.

E8t4e8C

(1)38109€0 (2) E81HOED
(3)3gi{ve6C (a) EgI¢68C
(A)4 (B) 2

(C)3 (D)1

198. What is the product of all the numbers in
the dial of a telephone ?
(A) 1,58,480 (B) 1,59,450
(C) 1,59,480 (D) None of these

199. Find the number of triangles in the given
figure.

(B) 10
(D)8

(A) 14
(€) 12

200. Choose the figure which is different from
the rest.

PR It |57 F

(1) (2 @) @ 6
(A)3 (B) 2
(€)1 (D)4

(31)

%I"Aaﬂ;I}%W&;HﬁWWDGﬁTEﬁIDﬂTI@
mmﬁaamcaarmm%mmﬁ
ﬁ@?é@tas%ﬁnﬁm%ﬁﬂéﬁ

(A)22 (B)23
(C) 35 (D) 25

107, ¢ e o R e e 1 -9

& Ty firereT-Srn &l
E8t4e8C
(1)3816000  (2) EB1#O€D

(3)3giye6C (4 E8F¥6AC
(A)4 (B) 2
(C)3 (D)1

198, JefiprT 3 erret 3 ft el ohT EES T

)
(A) 1,58,480
(C) 1,59,480

(B) 1,59,450

(D) 7 & S T
199, €7 arreper & Frgsit <Al AT 16 I |

AN

(A) 14
(C) 12

200, € AT I Sttt & Fr=r 21

PR Wk 5]

(1) @ @ @ (O
(A)3
(€)1

(B) 10
(D)8

(B)2
(D)4
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